Tuesday ANSWERS

a) 43 62 14 48
+22 +37 +7/3 +31
65 99 87 79
b) 35 31 34 89 20
+ 57 ~ 99 + 35 + 35 + 44
92 130 69 124 B4
a) 233 262 114 646
+262 +317 + 73 +312
495 579 187 058
b) 236 151 802 180 961
+ 260 + B97 + 776 + 620 + 649
496 1048 1578 800 1610
a) 2,533 7,262 1014 6,745
+2,142 + 317 +4 ,673 +1012
4 675 7,579 5,687 7,757
b)
6.492 1.878 6.544 4.031 5418
+ 5,871 + 2,747 + 4.108 + 9.868 + 9.024
12.363 4.625 10.652 13.899 14.442
The solution Mo is correct. The
shows the

Possible answers
include;

missing numbers
in the hundreds
column must total
1,200 (the
additional 100 has
been exchanged).

missing numbers
for the ones, tens

6,338 + 2,987
6,438 + 2887

and thousands
columns.

6 38+2_87



